



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Computer Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1033683	NISHIKESH ANIL TAYADE LALITA 2022016402183322 (150)Badlapur-(889)	58651 33+	8+	41		FEC101 17+	17			58652 7F	6+	13		FEL101 21+	21		58655 27+	6+	33		FEL102 17+	17			Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 19F	9+	28		FEL103 19+	37			58654 24F	10+	34		FEL104 15+	32		FEL105 40+	40								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1033696	TELI VIVEK SUNIL ANITA 2023016400935246 (150)Badlapur-(948)	58651 25F	10+	35		FEC101 18+	18			58652 15F	6+	21		FEL101 15+	15		58655 29+	9+	38		FEL102 18+	18			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	-- --
		58653 33+	14+	47		FEL103 16+	38			58654 32+	19+	51		FEL104 13+	28		FEL105 25+	25								
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	D	6.00	18.00	1.00	D	6.00	6.00	1.00	D	6.00	6.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										
1033713	SHAIKH AFROZ SALAM SOMNEE 2023016402067346 (98)Bhoisar-(802)	58651 32+	8+	40		FEC101 20+	20			58652 25+	9+	34		FEL101 19+	19		58655 24+	8+	32		FEL102 21+	21			Successful 18.00 98.50	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.47 --
		58653 32	8+	40		FEL103 17+	28			58654 33	13+	46		FEL104 19+	38		FEL105 34+	34								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1033714	ANSARI ADEEN AHMED SAJID IQBAL - SABIHA PARVEEN 2023016402066625 (98)Bhoisar-(802)	58651 33 3.00 P	8+	41	12.00	FEC101 1.00 B	18+	18	8.00	58652 2.00 P	6+	33	8.00	FEL101 0.50 O	20+	20	5.00	58655 2.00 D	12+	43	12.00	FEL102 0.50 A	19+	19	4.50	Successful 18.00 103.50 5.75 --	
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
1033715	DUBEY ANKIT RAJESH SUMAN 2023016402067017 (98)Bhoisar-(802)	58651 32+ 3.00 P	10+	42	12.00	FEC101 1.00 O	20+	20	10.00	58652 2.00 P	8+	32	8.00	FEL101 0.50 O	20+	20	5.00	58655 2.00 E	11+	35	10.00	FEL102 0.50 O	20+	20	5.00	Unsuccessful -- -- -- --	
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1033717	KHAN SAUBAN ABDUL SUBHAN NAHID BANO KHAN 2022016402051002 (98)Bhoisar-(802)	58651 32+ 3.00 P	9+	41	12.00	FEC101 1.00 C	15+	15	7.00	58652 2.00 E	11+	35	10.00	FEL101 0.50 A	19+	19	4.50	58655 2.00 D	9+	42	12.00	FEL102 0.50 B	18+	18	4.00	Successful 18.00 101.50 5.64 --	
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1033722	TIWARI SUBHAM SUSHIL SHAIL 2023016402117777 (98)Bhoisar-(802)	58651 36	9+	45		FEC101 12+	12		58652 24	6+	30		FEL101 13+	13		58655 24+	7+	31		FEL102 13+	13		Successful 18.00	91.00			
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	5.06	--
		58653 33+	12+	45		FEL103 17+	35		58654 36	13+	49		FEL104 17+	33		FEL105 22+	22										
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1033728	RAYAN RAJENDRA PAMAR ANUPAMA 2023016400943683 (97)BORIVALI-(531)	58651 32+	12+	44		FEC101 23+	23		58652 25	7+	32		FEL101 19+	19		58655 29+	9+	38		FEL102 18+	18		Successful 18.00	103.50			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	D	6.00	12.00	0.50	B	8.00	4.00	5.75	--
		58653 32	8+	40		FEL103 19+	32		58654 37+	9+	46		FEL104 20+	39		FEL105 45+	45										
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1033730	THUMBRE RITVIK RAVIKANT SONALI 2023016400943621 (97)BORIVALI-(531)	58651 41	9+	50		FEC101 17+	17		58652 27+	10+	37		FEL101 17+	17		58655 27+	6+	33		FEL102 15+	15		Successful 18.00	99.00			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	5.50	--
		58653 40	8	48		FEL103 18+	34		58654 32+	8+	40		FEL104 15+	28		FEL105 38+	38										
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
1033740	ZAPDEKAR KARAN RAJESH RUPALI RUPALI 2023016400716146 (2)Dadar-(356)	58651 19F	8+	27		FEC101 19+	19			58652 30+	7+	37		FEL101 19+	19		58655 24+	7+	31		FEL102 21+	21			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 17F	8+	25		FEL103 16+	32			58654 32+	9+	41		FEL104 19+	33		FEL105 37+	37											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1033745	JESWIN CHACKO BONNY 2023016400965141 (2)Dadar-(55)	58651 27F	9+	36		FEC101 13+	13			58652 27+	6+	33		FEL101 15+	15		58655 24+	8+	32		FEL102 18+	18			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 33+	8+	41		FEL103 15+	26			58654 32+	9+	41		FEL104 18+	31		FEL105 28+	28											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1033747	LOBO NEIL PRAVEEN MANISHI 2022016402261053 (2)Dadar-(55)	58651 20F	10+	30		FEC101 20+	20			58652 28+	6+	34		FEL101 15+	15		58655 24+	11+	35		FEL102 19+	19			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
		58653 16F	8+	24		FEL103 21+	38			58654 35+	12+	47		FEL104 16+	37		FEL105 42+	42											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Computer Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1033752	THANIKKAL JULIUS SOJOMON ANN 2022016402065153 (2) Dadar- (736)	58651 34+	13+	47		FEC101 13+	13			58652 24+	6+	30		FEL101 24+	24		58655 34+	7+	41		FEL102 23+	23		Successful 18.00 100.00			
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.56 --	
		58653 32	11+	43		FEL103 16+	32			58654 36+	8+	44		FEL104 20+	37		FEL105 40+	40									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1033772	PAL ADITYA HARISHCHANDRA SANGEETA 2022016402387995 (8) Kalyan- (461)	58651 25F	8+	33		FEC101 19+	19			58652 25E	7+	32		FEL101 11+	11		58655 26+	7+	33		FEL102 10+	10		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	2.00	P	4.00	8.00	0.50	P	4.00	2.00	-- --	
		58653 35+	10+	45		FEL103 18+	34			58654 32+	11+	43		FEL104 17+	33		FEL105 25+	25									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00						
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1033779	YADAV PRATIK CHIMAJI SUREKHA 2023016401022367 (8) Kalyan- (461)	58651 5F	8+	13		FEC101 17+	17			58652 24+	6+	30		FEL101 16+	16		58655 24+	9+	33		FEL102 23+	23		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 34+	14+	48		FEL103 22+	42			58654 34+	10+	44		FEL104 18+	30		FEL105 42+	42									
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		CR	GR	GP	C*G							
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11																			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
1033787	/ NARWADE NEHA SUNIL SAVITA	58651				FEC101				58652				FEL101				58655				FEL102												Unsuccessful			
	2023016402214014	26F	15+	41		--	17+	17		24+	7+	31		--	18+	18		31+	9+	40		--	18+	18										-- --			
	(36)Karjat-(438)	3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00					-- --							
		58653				FEL103				58654				FEL104				FEL105																			
		32+	12+	44		--	20+	40		36+	17+	53		--	16+	31		--	43+	43																	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00																
		Total Credit --				FINAL CGPI --				FINAL GRADE --																											

Remark: REVALUATION

1033788	PARKAR KIRTISH AJIT APURVA	58651				FEC101				58652				FEL101				58655				FEL102												Unsuccessful
	2023016402215161	32+	8+	40		--	18+	18		24+	7+	31		--	17+	17		28+	6+	34		--	18+	18										-- --
	(36)Karjat-(438)	3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00					-- --				
		58653				FEL103				58654				FEL104				FEL105																
		22F	8+	30		--	18+	34		32+	9+	41		--	14+	29		--	45+	45														
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																								

Remark: REVALUATION

1033792	HARSHAL BHAI PATIL SHOBHA PATIL	58651				FEC101				58652				FEL101				58655				FEL102												Successful
	2023016402053675	37	13+	50		--	12+	12		41+	7+	48		--	15+	15		36+	8+	44		--	12+	12										18.00
	(36)Karjat-(734)	3.00	D	6.00	18.00	1.00	E	5.00	5.00	2.00	C	7.00	14.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	E	5.00	2.50					5.39				
		58653				FEL103				58654				FEL104				FEL105																
		32	9+	41		--	10+	20		40	12+	52		--	10+	22		--	20+	20														
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	D	6.00	18.00	1.00	P	4.00	4.00	1.00	P	4.00	4.00													
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																								

Remark: REVALUATION

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1033794	SAWANT ABHIJEET SHIVAJI MANISHA 2023016402053605 (36)Karjat-(734)	58651 0F 3.00 F	8+	8	8	FEC101 1-- 1.00 O	21+	21	21	58652 24E 2.00 P	6+	30	30	FEL101 1-- 0.50 C	17+	17	17	58655 11F 2.00 F	8+	19	19	FEL102 1-- 0.50 O	24+	24	24	Unsuccessful -- -- -- --	
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1033798	JADHAV YADNESH DHONDIBA SUJATA 2022016402390533 (36)Karjat-(807)	58651 32 3.00 P	11+	43	43	FEC101 1-- 1.00 O	21+	21	21	58652 26+ 2.00 E	9+	35	35	FEL101 1-- 0.50 C	16+	16	16	58655 24+ 2.00 E	13+	37	37	FEL102 1-- 0.50 B	18+	18	18	Successful 18.00 101.50 5.64 --	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											
1033799	KEWARI VISHWAS GOPAL SHOBHA 2023016402087993 (36)Karjat-(807)	58651 27F 3.00 F	8+	35	35	FEC101 1-- 1.00 O	20+	20	20	58652 28+ 2.00 E	6+	34	34	FEL101 1-- 0.50 E	12+	12	12	58655 27+ 2.00 P	6+	33	33	FEL102 1-- 0.50 C	17+	17	17	Unsuccessful -- -- -- --	
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
Remark: REVALUATION																											

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1033800	/ KOTIAN YASHASHWINI CHANDRASHEKHAR - SUMATHI 2023016402088002 (36)Karjat-(807)	58651 32E	8+	40		FEC101 18+	18			58652 26+	8+	34		FEL101 15+	15		58655 35+	6+	41		FEL102 14+	14			Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	D	6.00	3.00	-- --			
		58653 9F	8+	17		FEL103 19+	36			58654 32+	8+	40		FEL104 20+	38		FEL105 20+	20											
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	P	4.00	4.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1033801	/ VAIBHAVI HIRALAL NIKUMBH KAVITA NIKUMBH 2023016402092657 (36)Karjat-(807)	58651 36	8+	44		FEC101 21+	21			58652 34+	8+	42		FEL101 18+	18		58655 42+	6+	48		FEL102 20+	20			Successful 18.00 115.00				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00	6.39 --			
		58653 44	8+	52		FEL103 21+	39			58654 34+	11+	45		FEL104 22+	44		FEL105 29+	29											
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	D	6.00	6.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1033808	AYUSH VINOD BHOSALE SHAKUNTALA 2023016402117963 (36)Karjat-(857)	58651 14F	9+	23		FEC101 17+	17			58652 27E	6+	33		FEL101 18+	18		58655 28+	7+	35		FEL102 19+	19			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --			
		58653 32+	13+	45		FEL103 19+	37			58654 32+	9+	41		FEL104 22+	40		FEL105 41+	41											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1033825	KHAN KAIF ANSAR SONI BANO 2022016402259182 (36)Karjat-(857)	58651 32+	16+	48		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	18+	18		58655 29+	8+	37		FEL102 --	11+	11		Unsuccessful -- --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	P	4.00	2.00	-- --			
		58653 19F	13+	32		FEL103 --	19+	39		58654 32+	14+	46		FEL104 --	17+	33		FEL105 --	40+	40									
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1033857	PATIL SMIT SHASHIKANT RESHMA 2023016402411092 (152)kumbhivali-(990)	58651 33+	8E	41		FEC101 --	11+	11		58652 24+	6+	30		FEL101 --	15+	15		58655 24+	9+	33		FEL102 --	12+	12		Unsuccessful -- --			
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	E	5.00	2.50	-- --			
		58653 32E	AA	32		FEL103 --	11+	26		58654 34+	10+	44		FEL104 --	12+	22		FEL105 --	30+	30									
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	P	4.00	4.00	1.00	C	7.00	7.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1033867	CHALKE PRANAV SACHIN SUVARNA 2023016402060257 (1)Mumbai-(126)	58651 32+	8+	40		FEC101 --	21+	21		58652 30E	6+	36		FEL101 --	20+	20		58655 24+	6+	30		FEL102 --	20+	20		Unsuccessful -- --			
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 17F	8+	25		FEL103 --	17+	31		58654 32+	8+	40		FEL104 --	22+	40		FEL105 --	43+	43									
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1033888	XALXO BENEDICT ROJEN ROHINI 2023016402139587 (76)Navi Mumbai-(426)	58651 51+ 15+ 66 3.00 C 7.00 21.00	FEC101 14+ 14 6.00 6.00 1.00 D	58652 24+ 8+ 32 2.00 P 4.00 8.00	FEL101 16+ 16 0.50 C 7.00 3.50	58655 33 7+ 40 2.00 D 6.00 12.00	FEL102 15+ 15 0.50 C 7.00 3.50	Successful 18.00 106.00 5.89 --																			
Remark: REVALUATION																											
1033894	NYAYNITA SHASHANK BHAGWAT SANGITA 2023016400730154 (76)Navi Mumbai-(428)	58651 32 13+ 45 3.00 E 5.00 15.00	FEC101 20+ 20 1.00 O 10.00 10.00	58652 27 7+ 34 2.00 E 5.00 10.00	FEL101 20+ 20 0.50 O 10.00 5.00	58655 24 7+ 31 2.00 P 4.00 8.00	FEL102 24+ 24 0.50 O 10.00 5.00	Successful 18.00 97.00 5.39 --																			
Remark: REVALUATION																											
1033902	SHRIYASH SHRIDHAR AMBEKAR MANISHA 2022016402169353 (12)Panvel-(124)	58651 32+ 9+ 41 3.00 P 4.00 12.00	FEC101 17+ 17 1.00 C 7.00 7.00	58652 24E 8+ 32 2.00 P 4.00 8.00	FEL101 18+ 18 0.50 B 8.00 4.00	58655 24+ 6+ 30 2.00 P 4.00 8.00	FEL102 21+ 21 0.50 O 10.00 5.00	Unsuccessful -- -- -- --																			
Remark: REVALUATION																											

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1033918	YADAV BHARAT SANJAY SAVITA 2023016400614177 (12) Panvel-(124)	58651 32+ 3.00 P	10+	42	12.00	FEC101 15+ 1.00 C	15	7.00	7.00	58652 30+ 2.00 E	6+	36	10.00	FEL101 17+ 0.50 C	17	3.50	58655 24+ 2.00 P	7+	31	8.00	FEL102 19+ 0.50 A	19	4.50	Unsuccessful -- --		
		58653 32+ 3.00 P	12+	44	12.00	FEL103 18+ 1.00 C	33	7.00	7.00	58654 23F 3.00 F	10+	33	0.00	FEL104 22+ 1.00 O	43	10.00	FEL105 35+ 1.00 B	35	8.00	8.00						
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1033929	KAMBLE SAIRAJ GANESH KALYANI 2023016401235687 (12) Panvel-(692)	58651 3F 3.00 F	10+	13	0.00	FEC101 21+ 1.00 O	21	10.00	10.00	58652 27+ 2.00 E	8+	35	10.00	FEL101 19+ 0.50 A	19	4.50	58655 38+ 2.00 D	6+	44	12.00	FEL102 19+ 0.50 A	19	4.50	Unsuccessful -- --		
		58653 AA 3.00 F	8+	8	0.00	FEL103 19+ 1.00 B	35	8.00	8.00	58654 25F 3.00 F	9+	34	0.00	FEL104 14+ 1.00 D	27	6.00	FEL105 44+ 1.00 O	44	10.00	10.00						
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1033940	DHAMAL GAURAV CHANDRABHAN PRATIKSHA 2023016402426605 (12) Panvel-(822)	58651 22F 3.00 F	8+	30	0.00	FEC101 14+ 1.00 D	14	6.00	6.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 16+ 0.50 C	16	3.50	58655 24+ 2.00 P	7+	31	8.00	FEL102 15+ 0.50 C	15	3.50	Unsuccessful -- --		
		58653 19F 3.00 F	8+	27	0.00	FEL103 14+ 1.00 D	25	6.00	6.00	58654 32+ 3.00 P	8+	40	12.00	FEL104 17+ 1.00 C	33	7.00	FEL105 22+ 1.00 P	22	4.00	4.00						
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Computer Engineering) - F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date: 25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1033947	PANDEY SIDDHARTH GHANSHYAM ANITA 2023016402427326 (12) Panvel - (822)	58651 32+	12+	44		FEC101 --	21+	21		58652 26	7+	33		FEL101 --	20+	20		58655 24+	12+	36		FEL102 --	21+	21	Successful 18.00 104.00	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.78 --
		58653 32	8+	40		FEL103 --	21+	39		58654 33+	14+	47		FEL104 --	22+	38		FEL105 --	39+	39						
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										
1033964	CHOUHDHARY ANURAG MANOJ ARCHANA 2022016402067295 (12) Panvel - (944)	58651 32E	9+	41		FEC101 --	20+	20		58652 30+	6+	36		FEL101 --	15+	15		58655 38+	7+	45		FEL102 --	18+	18	Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	C	7.00	14.00	0.50	B	8.00	4.00	-- --
		58653 21F	12+	33		FEL103 --	20+	32		58654 32+	8+	40		FEL104 --	20+	30		FEL105 --	37+	37						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										
1033980	KODAM BRAJESH BHASKAR REKHA 2023016402072676 (30) Shahapur - (776)	58651 32+	8+	40		FEC101 --	20+	20		58652 24+	9+	33		FEL101 --	17+	17		58655 24+	6+	30		FEL102 --	17+	17	Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 37+	8+	45		FEL103 --	18+	37		58654 23F	9+	32		FEL104 --	22+	43		FEL105 --	44+	44						
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
Remark: REVALUATION																										

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1033983	MOMIN FAAZ HASAN SAFDAR SABA 2023016402072703 (30)Shahapur-(776)	58651 13F	8+	21		FEC101 13F	21+	21		58652 24+	8+	32		FEL101 13F	16+	16		58655 28+	7+	35		FEL102 13F	16+	16		Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	C	7.00	3.50	-- --
		58653 10F	8+	18		FEL103 10F	14+	29		58654 2F	8+	10		FEL104 10F	19+	37		FEL105 10F	28+	28						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1033995	RAUL DURVESH PRAVIN PRAGATI 2023016402095957 (5)Thane-(1247)	58651 32+	16+	48		FEC101 32+	24+	24		58652 19F	6+	25		FEL101 32+	22+	22		58655 32+	7+	39		FEL102 32+	20+	20		Unsuccessful -- --
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 37+	12+	49		FEL103 37+	21+	39		58654 32+	8+	40		FEL104 37+	21+	36		FEL105 37+	42+	42						
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1033996	SAWANT ATHARVA RAJESH RIYA 2023016402087842 (5)Thane-(1247)	58651 23F	8+	31		FEC101 23F	18+	18		58652 24+	9+	33		FEL101 23F	18+	18		58655 24+	8+	32		FEL102 23F	16+	16		Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 33+	12+	45		FEL103 33+	23+	39		58654 38+	8+	46		FEL104 33+	18+	32		FEL105 33+	39+	39						
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1033998	VISHWAKARAMA ANKHUSH AMIT PRATIMA 2023016402105544 (5)Thane-(1247)	58651 18F 3.00 F 0.00 0.00	8+	26		FEC101 18+ 1.00 B 8.00 8.00	18			58652 24+ 2.00 P 4.00 8.00	7+	31		FEL101 20+ 0.50 O 10.00 5.00	20		58655 24+ 2.00 P 4.00 8.00	6+	30		FEL102 16+ 0.50 C 7.00 3.50	16		Unsuccessful -- -- -- --					
		58653 44+ 3.00 D	15+	59		FEL103 20+ 1.00 A 9.00 9.00	38			58654 38+ 3.00 E 5.00 15.00	9+	47		FEL104 16+ 1.00 C 7.00 7.00	31		FEL105 35+ 1.00 B 8.00 8.00	35											
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1033999	INARKAR SHUBHAM BHAGURAM BHAGYASHREE 2023016402105207 (5)Thane-(17)	58651 32 3.00 P 4.00 12.00	12+	44		FEC101 13+ 1.00 D 6.00 6.00	13			58652 36+ 2.00 C 7.00 14.00	10+	46		FEL101 21+ 0.50 O 10.00 5.00	21		58655 24+ 2.00 E 5.00 10.00	11+	35		FEL102 20+ 0.50 O 10.00 5.00	20		Successful 18.00 106.00 5.89 --					
		58653 32+ 3.00 P	11+	43		FEL103 15+ 1.00 B 8.00 8.00	35			58654 35+ 3.00 D 6.00 18.00	19+	54		FEL104 14+ 1.00 C 7.00 7.00	30		FEL105 39+ 1.00 A 9.00 9.00	39											
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1034004	SPARSH SAINI MANISHA SAINI 2022016402346863 (5)Thane-(17)	58651 32+ 3.00 P 4.00 12.00	9+	41		FEC101 13+ 1.00 D 6.00 6.00	13			58652 27 2.00 E 5.00 10.00	7+	34		FEL101 19+ 0.50 A 9.00 4.50	19		58655 24+ 2.00 P 4.00 8.00	8+	32		FEL102 20+ 0.50 O 10.00 5.00	20		Successful 18.00 93.50 5.19 --					
		58653 35+ 3.00 P	8+	43		FEL103 19+ 1.00 O 10.00 10.00	40			58654 33+ 3.00 P 4.00 12.00	9+	42		FEL104 17+ 1.00 C 7.00 7.00	33		FEL105 30+ 1.00 C 7.00 7.00	30											
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1034015	YASH SANJAY GAIKWAD PUSHPA 2023016402108883 (5)Thane-(237)	58651 15F	17+	32		FEC101 11+	11			58652 24+	7+	31		FEL101 18+	18		58655 24+	6+	30		FEL102 16+	16			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 33+	14+	47		FEL103 12+	23			58654 15F	8+	23		FEL104 10+	20		FEL105 42+	42											
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	P	4.00	4.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1034017	LAMBOLE AADITYA NITIN SUREKHA 2023016402102526 (5)Thane-(237)	58651 39+	10+	49		FEC101 14+	14			58652 28	6+	34		FEL101 20+	20		58655 24+	7+	31		FEL102 21+	21			Successful 18.00 102.00				
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.67 --			
		58653 33	8+	41		FEL103 17+	29			58654 40+	12+	52		FEL104 19+	33		FEL105 42+	42											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1034019	PIYUSH AMOL PATHARE SHOBHANA PATHARE 2023016402076666 (5)Thane-(237)	58651 32+	17+	49		FEC101 11+	11			58652 24+	9+	33		FEL101 21+	21		58655 24	7+	31		FEL102 21+	21			Successful 18.00 90.00				
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.00 --			
		58653 32+	11+	43		FEL103 10+	22			58654 32+	11+	43		FEL104 16+	32		FEL105 42+	42											
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		CR
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1034027	TADAVI MOIN SARFRAJ MUMTAJ 2023016402103093 (5)Thane-(237)	58651 32E	9+	41		FEC101 15+	15			58652 26+	9+	35		FEL101 21+	21			58655 24+	7+	31		FEL102 21+	21			Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --	
		58653 1F	10+	11		FEL103 20+	35			58654 AA	14+	14		FEL104 21+	40			FEL105 42+	42								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00						
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

Remark: REVALUATION

1034038	SK SOYEL ALI ABDUL AZIM FORIDA 2023016401643505 (5)Thane-(689)	58651 9F	8+	17		FEC101 14+	14			58652 24+	10+	34		FEL101 17+	17			58655 24+	8+	32		FEL102 17+	17			Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 33+	11+	44		FEL103 15+	27			58654 32+	10+	42		FEL104 21+	40			FEL105 34+	34							
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

1034039	/ SANIKA SANJIV SHINDE ARCHANA 2023016400733261 (5)Thane-(689)	58651 39+	8+	47		FEC101 14+	14			58652 26+	7+	33		FEL101 17+	17			58655 10F	9+	19		FEL102 23+	23			Unsuccessful -- --
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 33+	10+	43		FEL103 16+	27			58654 32+	14+	46		FEL104 23+	45			FEL105 36+	36							
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

Remark: REVALUATION

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1034089	LOHAR ANSHUMAN YOGRAJ VAISHALI 2023016401646345 (22)Vasai-(466)	58651 17F	8+	25		FEC101 15+	15			58652 27+	6+	33		FEL101 19+	19		58655 24+	10+	34		FEL102 19+	19			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	A	9.00	4.50	-- --
		58653 32+	11+	43		FEL103 18+	37			58654 37+	10+	47		FEL104 21+	39		FEL105 44+	44								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1034096	SONAWANE DURVESH GAUTAM SIMA 2022016402069882 (22)Vasai-(466)	58651 32	8+	40		FEC101 17+	17			58652 28+	9+	37		FEL101 21+	21		58655 25+	7+	32		FEL102 21+	21			Successful 18.00 96.00	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.33 --
		58653 32+	8+	40		FEL103 16+	32			58654 32	9+	41		FEL104 19+	37		FEL105 40+	40								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1034098	DHAGE RUDRA MAHENDRA JAYASHREE 2022016402283741 (22)Vasai-(823)	58651 21F	12+	33		FEC101 17+	17			58652 25+	7+	32		FEL101 22+	22		58655 25+	6+	31		FEL102 22+	22			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 18F	9+	27		FEL103 19+	37			58654 32+	8+	40		FEL104 19+	34		FEL105 43+	43								
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1034114	HONPARKHE GANESH GAJANAN KIRAN 2023016401387903 (12) Panvel- (116)	58651 19F	8+	27		FEC101 16+	16		58652 24+	7+	31		FEL101 18+	18		58655 1F	7+	8		FEL102 20+	20				Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 38+	8+	46		FEL103 18+	36		58654 32+	8+	40		FEL104 18+	36		FEL105 42+	42									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1034118	MHATRE MANISH VISHWAS VINITA 2023016401387861 (12) Panvel- (116)	58651 20F	8+	28		FEC101 16+	16		58652 24+	6+	30		FEL101 18+	18		58655 25+	6+	31		FEL102 17+	17				Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 59+	8+	67		FEL103 17+	33		58654 32+	8+	40		FEL104 18+	35		FEL105 42+	42									
		3.00	C	7.00	21.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1034119	PANDIT ARYAN HARISHCHANDRA PALLAVI 2022016402336114 (12) Panvel- (116)	58651 32+	8+	40		FEC101 17+	17		58652 27+	6+	33		FEL101 17+	17		58655 24+	6+	30		FEL102 18+	18				Successful 18.00 90.50	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	5.03 --
		58653 36	8+	44		FEL103 16+	33		58654 32+	8+	40		FEL104 20+	34		FEL105 42+	42									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1034127	GAUTAM KRISH SUDHENDRA RITU 2023016400652512 (22)Vasai-(982)	58651 17F	8+	25		FEC101 20+	20			58652 29+	6+	35		FEL101 22+	22		58655 32+	6+	38		FEL102 11+	11			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	P	4.00	2.00	-- --
		58653 32+	8+	40		FEL103 11+	28			58654 50E	8+	58		FEL104 17+	35		FEL105 35+	35								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1034129	/ KARBHARI ISHIKA VIJAY ANURADHA 2023016400653457 (22)Vasai-(982)	58651 25F	10+	35		FEC101 23+	23			58652 24+	6+	30		FEL101 20+	20		58655 32+	6+	38		FEL102 21+	21			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 33+	10+	43		FEL103 14+	29			58654 40+	11+	51		FEL104 19+	37		FEL105 42+	42								
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1034132	/ PANDEY AKSHITA MUKESH KANAN 2023016400652632 (22)Vasai-(982)	58651 16F	10+	26		FEC101 20+	20			58652 24+	7+	31		FEL101 22+	22		58655 24+	8+	32		FEL102 20+	20			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 23F	12+	35		FEL103 15+	28			58654 18F	8+	26		FEL104 20+	40		FEL105 39+	39								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL-NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
1034135	MAYURESH ARUN PATIL JAYSHRI 2023016400653442 (22)Vasai-(982)	58651 12F	11+	23		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	22+	22		58655 26+	6+	32		FEL102 --	21+	21		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 24F				FEL103 --				58654 32E				FEL104 --				FEL105 --											
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1034138	/ DHASADE VEDANGI DAYANAND DIVYA 2023016402301943 (26)Wada-(991)	58651 32+	13+	45		FEC101 --	19+	19		58652 29+	13+	42		FEL101 --	21+	21		58655 40+	9+	49		FEL102 --	19+	19		Successful 18.00 118.50			
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	2.00	C	7.00	14.00	0.50	A	9.00	4.50	6.58 --			
		58653 42				FEL103 --				58654 32				FEL104 --				FEL105 --											
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1034139	GOSAVI ARYAN ANIL PRATIBHA 2023016402302045 (26)Wada-(991)	58651 2F	8+	10		FEC101 --	21+	21		58652 24+	9+	33		FEL101 --	21+	21		58655 24+	8+	32		FEL102 --	18+	18		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --			
		58653 13F				FEL103 --				58654 12F				FEL104 --				FEL105 --											
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Computer Engineering)- F.E. C-Scheme - Sem I [1T01831] REVALUATION HELD IN Winter 2025 Result Declaration Date:25 Feb 2026

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1034142	YASH RAJENDRA PATIL RANI 2023016402302037 (26)Wada-(991)	58651 25F	8+	33		FEC101 --	19+	19		58652 24+	10+	34		FEL101 --	20+	20		58655 34+	9+	43		FEL102 --	20+	20	Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --			
		58653 37E	9+	46		FEL103 --	13+	27		58654 24F	12+	36		FEL104 --	10+	27		FEL105 --	40+	40									
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

1034145	MRUNAL MAHADEV YADAV LEENA 2023016402302061 (26)Wada-(991)	58651 57+	9+	66		FEC101 --	20+	20		58652 24+	12+	36		FEL101 --	20+	20		58655 17F	9+	26		FEL102 --	20+	20	Unsuccessful -- --	
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --
		58653 34E	9+	43		FEL103 --	18+	35		58654 35+	9+	44		FEL104 --	10+	25		FEL105 --	39+	39						
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00					
Remark: REVALUATION		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, * - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;
 NULL=NULL & VOID, G:Grade C*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668
 aC:sum of credit points GPA: aCG/aC
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100
 GRADE : F P E D C B A O
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

